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(4) A block of mass m is being drawn up a 30°
incline by a falling weight of mass 3m. These two
masses are connected by an inextensible string that
passes over a pulley which is a uniform circular disk
of mass 2m and radius r. The string does not siip
on the puliley, which rotates on frictionless bearings.
The surface of the incline is lubricated, providing a |
sliding resistance that can be characterized by an effective dashpot coefficient c. | L i

@ (a) Use constraint equations to relate the position of the masses m and 3m to the angle of
rotation of the pulley, 6(t). ’
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/0 (b) Use Lagrange’s Equations to write the equations of motion in terms of the generalized
coordinate &(t). ‘ 1 ‘
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